Table of contents

UserManual.......cooooiiiiii e 1-3
R R e 4-6
Huwong dan si dung......oooveeieieee e 7-9
BUKU Panduan. -« oot 10-12
PYKOBOACTBO MOMb30BATENA .., 13-15
aaaduall dala o, 16-18
BenutzerhandbucCh . ocovoveiiiiiiiiiieeeeeeee, 19-21
Manuel d'utilisation -« cooeerererieiiiiieieeeieeeaens 22-24
Manual del USUAMO -« eurmeeeaeieaeaeeieiieaeanens, 25-27
Kullanicl El Kitabi -« eeeeoemiiiiiiee 28-30

Manualdo usuérlo ........................................... 3 1_34



Before You Begin
Package Contents

Packing List
Item Name Quantity Unit | Remark
1 Host 1 Set
2 Mounting bracket 2 Piece
3 Foot pad 4 Piece
M4x8 countersunk flat head
4 screws(common head style) with 6 Piece
Cross recess
5 Ruijie Networks Product 1 P Pre-
Management Software 1eC€ | installed
6 Grounding wire 1 Piece
7 Power cord 1 Piece
8 Power cord retention clip 1 Piece
9 User Manual 1 Copy
10 Warranty card 1 Copy

You can retrieve product supporting documents at
https://www.ruijienetworks.com. Click Support > Technical Documents, and
download the documents you need.

Installation and Networking

The RG-NBS3100-24GT4SFP switches follow the EIA standard
dimensions and can be installed in 19-inch rack.
The steps of Installation are as follows:

(D Take out two L-shape mounting brackets and six M4x8 FMO countersunk
head screws



(2 Attach the mounting brackets to both sides of the switch closely and fix it
with three M4x8 FMO countersunk head screws

Networking

Method 1 (recommended)

Scan the QR-code on the manual or device to download Ruijie Reyee
App. Follow the guide on App to set up and configure the network.

Method 2
Connect the cable to the device port and access http://10.44.77.200 to
perform configuration.




Port Information

F OQOOOQOOOMOOOQO ?Emm
A e ﬂ EIEIET: =
o
Note: 1. System status LED 3. 10/100/1000 Base-T Ethernet port
2. Reset button 4. 1000Base-X SFP port

Specifications
Specifications RG-NBS3100-24GT4SFP
Standard IEEE 802.3, IEEE 802.3u,

IEEE 802.3x%, IEEE 802.3z

24*10/100/1000Mbps Ethernet ports
Interface

4*100/1000 Mbps SFP ports
Switching Capacity 56 Gbps

The overall maximum output power is
21W.

Dimensions (W x D x H)) 440mm*165mm*44mm

Operating
Environment

Power Consumption

Temperature 0°C-50°C

Humidity 10% - 90% RH, non-condensing

Storage

. Temperature -40°C-70°C
Environment

Humidity 5% - 95% RH, non-condensing

CE Warming:
Operation of this equipment in a residential environment could cause radio
interference.



LA
A0, LR A
HEEIAEE
IEH 2B BE | Bf | 5
1 B 1 (=
2 [i] & 48 2 1l
3 I A 4 e
4 M4X8 “F-FH-FIRARE] 6 A
ELFESE
5 ST ARAR A T EER R 1 =3 GHELE
Firp
6 ¥ Ak A HL AR 1 &
7 TR 1 (3
8 B YR ARSI e Ak 1 e
9 AR 1 A
10 P& i 1 A

WS A E R B SRR AR B T Ak
https://www. rui jienetworks. com, USR] ZE S8R NE PRI A Bl A i, )

A BB SR TR )

7 NIEEEIE

ZHE A

RG-NBS3100-24GTASFPAZ #A S FF S ETARRME R, W DA% 3R 197N (1 L AR ME
GHEWFEL R

IR E SR B AR H AL 2R [ 7 42 DL K 60 2 26 FH IRMAX8 FMO-F- BRI A% £ T



DR H 1 e SRR AEATIRE B, 0 F 3RIMAXS FMO-T-BRERARETHT H A 2, W
{22 2 7R AR TR

Tkl (HEED
AR E BT ERQRES LA N #Rui jie Reyee APP. F%ZRRAPPH R 5] HEAT B Ae 4l
A, PUETE AR

k2
A4 AR B B 2 B G RE A7 i ht tp: //10. 44. 77. 200,
({8 FHGoogle Chrome)




Groan=1000100M

ham| ccooo000000000 9

ﬂfﬂmﬁ

0
ERE. 1. XHRBEAFREIRE 3. 10/100/1000Base-T HiHEE 2 A4S B R
2. EiRE 4. 1000Base—X SFP iz
=]
EE i A
iVl RG-NBS3100-24GT4SFP
. IEEE 802.3, IEEE 802. 3u
@ i ﬁ‘_\‘){ b b
IR IEEE 802.3x, IEEE 802. 3z
24%10/100/1000Mbps . K 48 4FiF
TR IR
4%100/1000 Mbps SFP 4t
PG E 56Gbps
gyj B HE RN =21V

AMERSE CE x % x ) | 440mm* 1 65mm*k44mm

TAEREE 0°C-50°C

TAFIRSS
TAERE 10% & 90% RH

A7t 40 ° C - 70 ° C
AR E 5% % 95% RH

7B

CE B : FE(T IR p 8 P A M T Al & il AR o T8



Hwéng dan str dung

Trwde khi bat dau
NGi dung dong goi

Danh sach déng goéi

—

<QD-
=

(®))
c
‘<GJ
|_

Muc Tén S6 lwong | Pon vi | Ghi cha
1 May cha 1 Bo
2 Gia gan 2 Cai
3 Pém chan 4 Cai
Vit ddu phéng chim v&i I6m
4 chéo M4x8 (kiéu dau thdng 6 Cai
dung)
5 Phan mém quan ly san pham 1 cai | Trudc cai
Ruijie Networks dat
6 Day nbi dat 1 Cai
7 Day ngudn 1 Cai
8 Kep gir day nguén 1 Cai
9 Hwéng dan st dung 1 Ban
10 Phiéu bao hanh 1 Ban

Ban c6 thé tim kiém tai liéu hé tro san pham tai
https://www.ruijienetworks.com. Nhép vao Hé tro > Tai liéu Ky thuat va tai

xudng céc tai liéu ban can.

Lap dat va ket noi mang

Cac switch RG-NBS3100-24GT4SFP tuan theo kich thwdc tiéu chuan cua

EIA va c6 thé duoc 13p vao rack 19 inch.

Céc budc |ap dat nhw sau:




@ L&y hai gia d& hinh chir L va sau vit dau chim M4x8 FMO
@ Gan chat gia d& vao ca hai méat cla switch va cb dinh bang ba vit dau
chim M4x8 FMO

Két néi mang
Céch 1 (khuyén nghi)

Quét ma QR trén huéng dan sir dung hodc thiét bj dé tai xubng Ung
dung Ruijie Reyee. Thyc hién theo huwéng dan trén Ung dung dé thiét lap
va cau hinh mang.

R

)

Iﬁﬁ-l

VAT,

=

=

Cach 2
Két ndi cap vdi cdng thiét bj va truy cap http://10.44.77.200 dé thuc
hién cau hinh.




Théng tin céng

Groan=1000100M

0QODOO00C000A0 27

ottt it e e e

SFE

o

Ghi chu: 1. Bbén LED bao trang thai hé 3. Cdng Ethernet 10/100/1000
thdng Base-T
2. Nut Reset (Dat lai) 4. Cbng 1000Base-X SFP

Théng so ky thuat

Théng sé ky thuat RG-NBS3100-24GT4SFP

IEEE 802.3, IEEE 802.3u,
IEEE 802.3x, IEEE 802.3z

24*10/100/1000Mbps Céng Ethernet

o
<D-
=

(@]
[
<D
|_

Tiéu chuan

Cong 4*100/1000 Mbps
Cong SFP
Céng suét chuyén mach 56 Gbps
Dién nang tiéu thu Tbéng cdng suét téi da la 21W.
Kich thwéc (Rx S x C)) 440mm*165mm*44mm

M6i trwong hoat dong | Nhiét dé | gec - 50°C

Boam | 10% - 90% RH, khong ngung tu
Méi trwdng bao quan | Nhiét dé | 40°c - 70°C

bBoam | 50, - 95% RH, khong ngung tu

Canh bao:
Trong qua trinh hoat ddng & khu virc dan cw, thiét bi nay co thé gay ra
nhiéu song v tuyén.



Buku Panduan

Sebelum Anda Memulai

Isi Paket
Isi Paket
No. Nama Jumlah | Satuan | Catatan
1 Unit perangkat 1 Set
2 Bracket pendukung 2 Buah
-% 3 Bantalan kaki 4 Buah
D
S M4x8 Sekrup berkepala rata (tipe
S 4 . 6 Buah
< kepala umum) dengan pola silang
% 5 Piranti Iuna__l_< Pengelola Produk 1 Buah | Pra-Instalasi
< Ruijie Networks
- 6 Kabel grounding 1 Buah
7 Kabel daya 1 Buah
8 Klip penyimpan kabel daya 1 Buah
9 Buku panduan 1 Salin
10 Kartu garansi 1 Salin

Anda bisa mendapatkan dokumen pendukung produk di halaman
https://www.ruijienetworks.com. Klik Bantuan > Dokumen Teknis, dan
unduh dokumen yang anda butuhkan.

Instalasi dan Jaringan

Switch RG-NBS3100-24GT4SFP telah memenuhi ukuran standar EIA dan
dapat dipasang pada rak 19-inci.
Langkah pemasangan adalah sebagai berikut:

(D Ambil dua bracket pendukung berbentuk L dan enam sekrup M4x8 FMO
2@ Tempelkan bracket pendukung pada dua sisi switch dan kencangkan
menggunakan tiga sekrup M4x8 FMO

10



Jaringan

Cara Pertama (Direkomendasikan)

Pindai QR-code pada buku panduan atau perangkat untuk
mengunduh aplikasi Ruijie Reyee, lalu konfigurasi jaringan sesuai
panduan pada aplikasi.

Cara Kedua

Hubungkan kabel ke port perangkat lalu buka http://10.44.77.200 untuk
memulai konfigurasi.

11



Informasi Port

L 'I;" OQOOOQOOOMOOOQO EEWW
] it [ [ ﬁ WE ﬂ o
0
Catatan: 1. Status LED Sistem 3. Port ethernet 10/100/1000 Base-T
2. Tombol reset 4. Port SFP 1000 Base-X
Spesifikasi
Spesifikasi RG-NBS3100-24GTA4SFP

IEEE 802.3, IEEE 802.3u,

©
(72]
(¢b]
e
o
e)
<
(4v)
(72}
@©
i
(48]
O

Standar IEEE 802.3x, IEEE 802.3z

24 port ethernet 10/100/1000Mbps
Port

4 port 100/1000 Mbps Port SFP
Kapasitas Switching 56 Gbps

Keluaran daya maksimal

Konsumsi Daya keseluruhan adalah 21W.

Dimensi (P xLxT) 440mm*165mm*44mm
Lingkungan Suhu 0°C-50°C

Penggunaan Kelembaban | 109, - 90% RH, tidak berembun
Lingkungan Suhu -40 °C - 70 °C

Penyimpanan

Kelembaban | 50/ _ 950, RH. tidak berembun

Peringatan CE:
Penggunaan perangkat ini pada kawasan hunian dapat menyebabkan
gangguan sinyal radio.

12



[o Hayanom paboTbl NpoBepLTE COAEPKaHNE KOPOOKM

Komnnekrauus
EanHnubI
n/n HanmeHoBaHue KonuyectBo A u MpumevaHue:
n3mepeHus
1 KommyTaTop 1 KOMMMEKT
2 MOHTa)HbI KPOHLUTENH 2 LUIT.
3 Msarkasi HoXka 4 LUT.
BuHTbI M4x8 ¢ 06bl4HON
4 NOTaMHOM rosIOBKON U 6 LT
KpecToobpasHbIM LWANLEM
[MporpammHoe obecneyeHne MocTtaBnsieTcs
5 AN yrnpasneHua 1 LUT. YCTaHOBMEHHbIM
npoayktamu Ruijie Networks Ha ycTpOWCTBO
6 [MpoBopg 3azemneHns 1 LUIT.
7 CeTeBoW LWHYpP 1 LUT.
XomyT ans gpukcaymm
8 yT ANA ¢ 4 1 LLIT.
CETeBOro LWHypa
9 PykoBOACTBO Nonb3oBaTens 1 aKsemnnsap
10 [apaHTUMHbBIN TanoH 1 aK3eMnnsp

ConpoBoanTENbHYKO AOKYMEHTALMIO MO YCTPOUCTBY MOXHO NOSMYYMTb Ha
canTte https://www.ruijienetworks.com. Beibepute Support (lNogaepxka) >
Technical Documents (TexHn4yeckaa JOKYMeHTaums1) u 3arpysmte
HeobxoauMble JOKYMEHTHI.

KommyTaTtopblRG-NBS3100-24GT4SFP cooTBETCTBYIOT CTaHAAPTHbLIM
pasmepam EIA n moryT yctaHaBnusatbcs B 19-410MMOBYHO CTOWKY.

Mopsaaok MoHTaxa:

13




@® Bosbmute 2 L-06pasHbiXx MOHTaXXHbIX KPOHLUTENHA U 6 BUHTOB M4x8
FMO ¢ notaniHOW ronoBKoMn.

(@ 3akpenuTte MOHTaXHbl€ KPOHLUTENHLI C 0BENX CTOPOH KOMMYyTaTopa C
nomoubto 3 BUHTOB M4x8 FMO Ha Kaxablit KPOHLUTENH.

Co3paHue KoHdurypauum cetum

1-1 cnocob (pekoMeHayeMbIin)

OtckaHupynte QR-KOO B WHCTPYKUMM MO 3KchnyaTauuM wnuM Ha
ycTpoucTBe Ansa 3arpy3km npunoxeHna Ruijie Reyee. Cnepgyunte
NHCTPYKUMAM MPUITOXKEHUS 0N CO34aHUA KOHUrypawumm ceTu.

)

2-1n cnocoO

Mogkntounte Kabenb K NOpTy YCTPOMUCTBA M 3anguTte Ha Beb-cTpaHuuy
http://10.44.77.200 A5 BbIMNOHEHUS KOHUrypawumn.

14



Groan=10001100M r 3

| cooooooocoooo o

H ettt s tete| et s
0

Mpumeuanme: |- CBETOAMOAHLIN 3- Mopr Ethernet 10/100/1000 MopT
MHOMKaTOp cTaTtyca Base-T
cncTeMel 4- Mopt SPF 1000Base-X

2- KHonka cbpoca

Moaenb RG-NBS3100-24GT4SFP
n |EEE 802.3, IEEE 802.3u,
OAAepxKa cTaHAapToB IEEE 802.3x, IEEE 802.3z

24 noptos Ethernet 10/100/1000 M6uT/c

MopTbl

4 nopta SFP 100/1000 M6uT/c
KommyTaumoHHass EMKOCTb 56 I'buTt/c

Ob6uwaa makcumanbHasa BbIXoaHas
OHepronoTpebneHne

MOLLIHOCTb cocTaenseT 14 BT.
Pasmepsbl (LU x " x B) 440MM*165MM*44MMm
Ycnosusi Temnepatypa | g °oc . 50 °C
aKcnnyaTauum

BrnaxHocTb 10% - 90% OTHOCUTENBHOW BNAa)XHOCTMW,
0e3 koHaeHcaunn
YcnoBua xpaHeHus Temnepatypa | 40 °c - 70 °C

BnaxHocTb 5% - 95% oTHOCUTENBbHOW BNaXHOCTMU,
©e3 KoHageHcauumn

MpeanynpexaeHune cornacHo Tpe6bosaHnsam CoBeta EBponbl:
Jkcnnyarauus 4aHHOro YCTPOMCTBA B XUMbIX MOMELLEHUSX MOXET Bbl3BaTb
paanonoMexu.

15



5anll Ly g e Aaild

;LLJ;.‘A 'EJ;)J\ :\...\AS.\\ ‘a-qu\ )mlad\
Ae sana 1 Chuias 1
Aalad 2 Ll 4458 2
da ke 4 Adedisaeldll | 3
Sl 6 M4Ax8 e pehansa dpla Gl o Ak 5 j30 21 4
(il L)
. dnlad 1 Ruijie Networks 4S b cilatis 5 )l Claa y 5
dg.um
dalad 1 PR i EILW 6
ik 1 Gl | 7
fakis 1 Ll Gl cuf die | 8
YW 1 PREON| K 9
EEW 1 Olasall 48l 10

Ll ) e aialls dalal) el i e J emal) i)

Technical < (a=V) Support (s ilhttps://www.ruijienetworks.com.

AS0lly Lo 5l 5 S il

Ll zliag ) i) 55 &8 ¢(ddll Clativall) Documents

Aa 5 19 e el e LS 8

tol LS S il il shas

16

OSars (EIA) 45y cleliall cllai el s RG-NBS3100-24GT4SFP Yl




M4x8 (lin e dulia (il pdsha g jae 2] pddus Lo cioa JS8 e cudi i€ e (D
e dasse dplia Gl dgda s i 2150 D0 aladiuly alSaly Jhudl ails o il S < Q)
M4x8

Al oy
(& ase) 1 48kl
&) Ruijie Reyee ¢gubi Jo il ¢ Gleall e ol il e g sudaall QR ey i g gasal

ASLAll Agiy el Gkl s )

ORe0
TN

Ead

"

2 43y )kl

Al oLy hitp://10.44.77.200 o) siad) (M il 5 Slead) diay JASH Jua 5t 28

17



| P s o B} c:00000000000000 9

S|

Groan=1000100M

S 267

7F 5 @
oeF
© 2aF

SFE

o

de yu T-Base Jbrall 385 i juY) dia 3
Aol/clas 10/100/1000
X-1000Base _lizall (38 5 SFP i 4

ALl s QLI LED sdpe ] iliadl

cmedll 3ale) 532

caal gall

RG-NBS3100-24GT4SFP Cliial sall
IEEE 802.3, IEEE 802.3u,

Dzl

IEEE 802.3x, IEEE 802.3z

40/ Culaie 10/100/1000 Ae s <o ji) 21 24 2ac
Aeal sl

4/ Culaie 100/1000 4e s SFP 28l 4 220
4/ ulaas 56 Joadil) dxs
D521 sz Al Al ey ol aall Al gl
Ay

244 X an 165 X 2= 440

(EWEY) X Gaall X a yall)

Lsieda 050 0 e | BN A0 Jaraiill 4y
CaiSS (g daad Ay sk ) 9690 A %10 (e 4 skl
L sreda 070 S 40- o | 30l A 0 O Al Ay
i () 9 e 4y gk ) %095 () %5 (e 4 gha )l
:CE a3

sl L) e Gl 8 oStuall Jals Sleal) 138 Qs Candy 38

18



Erste Schritte
Packungsinhalt

Packliste
Artikel Name Menge | Einheit | Bemerkung
1 Host 1 Gerat
2 Montagehalterung 2 Stlck
3 FuBpolster 4 Stick

M4x8
Senkkopf-Flachkopfschra

4 uben (normale Kopfform) 6 Stuck
mit Kreuzschlitz
5 Ruijie Networks Product 1 Stuck Vorinstalliert
Management Software
6 Erdungskabel 1 Stuck
7 Netzkabel 1 Stuck
Halteklammer fur .
8 Netzkabel 1 Stuck
9 Benutzerhandbuch 1 Kopie
10 Garantiekarte 1 Kopie

Produktbegleitende Dokumente kdnnen Sie abrufen unter
https://www.ruijienetworks.com. Klicken Sie auf Support > Technische
Dokumente und laden Sie die gewunschten Dokumente herunter.

Die RG-NBS3100-24GT4SFP Switches entsprechen dem EIA-Standard und
konnen in ein 19-Zoll-Rack eingebaut werden.
Die Installationsschritte sind wie folgt:

(O Entnehmen Sie zwei L-formige Montagehalterungen und sechs M4x8
FMO-Senkkopfschrauben.

19



(2 Bringen Sie die Montagehalterungen an beiden Seiten des Switchs fest an
und befestigen Sie sie mit drei M4x8 FMO-Senkkopfschrauben.

Vernetzung

Methode 1 (empfohlen)

Scannen Sie den QR-Code auf dem Handbuch oder Gerat, um die Ruijie
Reyee App herunterzuladen. Folgen Sie fur die Einrichtung und Konfiguration
des Netzwerks den Anweisungen in der App.

n'li-'&
"l

‘_;H_IEI
-. ...ﬁ:nEl

Methode 2
Schliel3en Sie das Kabel an den Gerateanschluss an und besuchen Sie
http://10.44.77.200, um die Konfiguration durchzufthren.

20



Informationen zum Anschluss

I 'I;" E OQOOOZQOOOHQOOQO ?Ewm
] it [ [ ﬂ EJE3 ﬂ G
0
Hinweis: 1. Systemstatus-LED 3. 10/100/1000 Base-T
2. Reset-Taste Ethernet-Anschluss

4. 1000Base-X SFP-Anschluss

Spezifikatione

Spezifikationen RG-NBS3100-24GT4SFP

IEEE 802.3, IEEE 802.3u,
IEEE 802.3x, IEEE 802.3z
24*10/100/1000 Mb/s
Ethernet-Anschlusse
4*100/1000 Mb/s
SFP-Anschluss

Standard

Schnittstelle

Schaltkapazitat 56 Gb/s
Die maximale
Leistungsaufnahme Gesamtausgangsleistung
betragt 21 W.
Abmessungen (B x T x H) 440 mm*165 mm*44 mm

Nutzungsumgebung | Temperatur 0-50 °C

Luftfeuchtigkeit | 10—90 % RH, nicht
kondensierend
Lagerumgebung Temperatur -40-70 °C

Luftfeuchtigkeit | 5_g5 o RH, nicht
kondensierend

CE-Hinweis:
Der Betrieb dieses Gerats in einer Wohnumgebung konnte Funkstorungen
verursachen.

21



Avant de commencer
Contenu du paquet

Liste d'emballage

Elément Nom Quantité Unité Remarque
1 Héte 1 Jeu
2 Support de montage 2 Piéce
3 Coussin de pied 4 Piece
Vis a téte plate
4 fralAsee M4x8 (style 6 Picce
téte commune)
cruciforme
Logiciel de gestion
5 de produit réseau de 1 Piece Preassemblage
Ruijie
6 Fil de terre 1 Piece
Cordon .
! d’alimentation 1 Piece
Pince de maintien
8 du cordon 1 Piece
d'alimentation
9 Manuel d'utilisation 1 Copie
10 Carte de garantie 1 Copie

Vous pouvez récupérer tous les documents accompagnant les produits
sur https://www.ruijienetworks.com. Cliquez sur Support > Documents

techniques, et téléchargez les documents dont vous avez besoin.

Les commutateurs RG-NBS3100-24GT4SFP respectent les dimensions
standard EIA et peuvent étre installés dans un rack 19 pouces.

Les étapes d'installation sont les suivantes :

@ Sortez deux supports de montage en forme de L et six vis a téte

22




fraisée M4x8 FMO
@ Fixez étroitement les supports de montage des deux cOtés du
commutateur et fixez-le avec trois vis a téte fraisée M4x8 FMO

Mise en réseau

Méthode 1 (recommandée)
Scannez le code QR figurant sur le manuel ou l'appareil pour

télécharger I'application RuijieReyee. Suivez le guide de l'application pour
établir et configurer le réseau.

Méthode 2
Connectez le cable au port de [lappareil et accédez a

http://10.44.77.200 pour effectuer la configuration.

23



Informations sur le port

Groan=1000/100M

bl COOOOOCHOOGCO0 =

da | i o £
0

Remarque : 1. DEL d'état du systeme 3. Port Ethernet
2. Bouton de réinitialisation 10/100/1 000 Base-T
4. Port SFP 1 000

Spécifications

Spécifications RG-NBS3100-24GT4SFP
IEEE 802.3, IEEE 802.3u,

Norme IEEE 802.3x, IEEE 802.3z
24 x port Ethernet
Interface 10/100/1 000 Mbps
4 x port SFP 100/1 000 Mbps
Capacité de commutation 56 Gbps

La puissance de sortie maximale

Consommation d’énergie globale est de 21 W.

Dimensions (I x P x H) 440 x 165 x 44 mm
Environnement Température 0as50°C
d’exploitation Humidité 10 3 90 % de HR, sans
condensation
-% Environnement Température -40a70°C
O de stockage Humidité 5a95 %de HR, sans
© condensation
T

Avertissement CE :
L'utilisation de cet équipement dans un environnement résidentiel peut
provoquer des interférences radio.

24



Antes de empezar
Contenido del paquete

Lista de contenido

Elemento Nombre Cantidad | Unidad | Observacion
1 Switch 1 Conjunto
2 Soporte de montaje 2 Pieza
3 Soporte de base 4 Pieza
Tornillos de cabeza plana
avellanada M4x8 (modelo :
4 . 6 Pieza
de cabeza comun) con
ranura en forma de cruz
Software de gestion de
5 productos Ruijie 1 Pieza Preposicion
Networks
6 Cable dg conexion a 1 Pieza
tierra
7 Cable de alimentacién 1 Pieza
8 Clip de retgnmon df:l 1 Pieza
cable de alimentacion
9 Manual de usuario 1 Copia
10 Tarjeta de garantia 1 Copia

Puede obtener los documentos de soporte del producto en
https://www.ruijienetworks.com. Haga clic en Soporte > Documentos

técnicos y descargue los documentos que necesite.

Los conmutadores RG-NBS3100-24GT4SFP cumplen con las normas
ElA relativas a las dimensiones y pueden instalarse en un bastidor de 19

pulgadas (48,26cm)

Los pasos para realizar la instalacion son los siguientes:

25




@®Tome dos soportes de montaje en forma de L y seis tornillos de cabeza
avellanada M4x8 FMO

@Coloque los soportes de montaje a ambos lados del conmutador con
cuidado y fijelos con tres tornillos de cabeza avellanada M4x8 FMO

Redes

Método 1 (recomendado)
Escanee el codigo QR en el manual o el dispositivo para descargar la
aplicacion Ruijie Reyee. Siga la guia de la aplicacion para instalar y

configurar la red.
[=]

Meétodo 2
Conecte el cable al puerto del dispositivo y acceda a http://10.44.77.200

para llevar a cabo la configuracion.

26



Informacién del puerto

I 'I;" E OQOOOQOOOH{JOOQO ?Ewm
] it [ [ ﬂ EJE3 ﬂ =
o

Nota: 1. LED de estado del 3. Puerto Ethernet

sistema 10/100/1000 Base-T

2. Boton de reinicio 4. Puerto SFP 1000Base-X

Especificaciones
Especificaciones RG-NBS3100-24GT4SFP
Norm IEEE 802.3, IEEE 802.3u,
orma IEEE 802.3x, |IEEE 802.3z

24 Puertos Ethernet
de10/100/1000 Mbps

Interfaz 4 Puertos SFP de 100/1000
Mbps
Capacidad de conmutacién 56 Gbps

La potencia de salida maxima

Consumo de energia total es de 21W.

Dimensiones (An. x Pr. x Al.) 440mm*165mm*44mm

Entorno Temperatura Entre 0 °C y 50 °C.

operativo Humedad Humedad relativa entre 10% y
90%, sin condensacion

Entorno de Temperatura Entre -40 °C y 70 °C.

almacenamiento Humedad Humedad relativa entre 5% vy
95%, sin condensacion

Advertencia CE:
El funcionamiento de este equipo en un entorno doméstico puede
provocar interferencias de radio.

27



Kullanici El Kitabi

Baslamadan Once

Paket Igerigi
Paket icerigi Listesi
Oge Ad Miktar | Birim | Notlar
1 Host 1 Set
2 Baglanti pargasi 2 Adet
3 Ayak tamponu 4 Adet

M4x8 konik havsa bagl ¢capraz oyuklu

4 vida (yaygin vida basi bigimi) 6 Adet

5 | Ruijie Networks Uriin Yénetimi Yazilimi | 1 Adet | Onceden
kurulmus

6 Topraklama kablosu 1 Adet

7 Guc¢ kablosu 1 Adet

8 Guc¢ kablosu tutucu klipsi 1 Adet

9 Kullanici El Kitabi 1 Kopya

10 Garanti kart 1 Kopya

Uriin destekleyici dokiimanlara https://www.ruijienetworks.com adresinden
erisebilirsiniz. Support > Technical Documents (Destek > Teknik
Dokumanlar) tUzerine tiklayarak ihtiyaciniz olan dokimanlari kargidan
yukleyebilirsiniz.

Kurulum ve Ag Olusturma

RG-NBS3100-24GT4SFP anahtarlari, EIA standart boyutlarina uygun
olup 19-in¢ ¢ati igerisine takilabilir. Kurulum adimlari agagidaki gibidir:

@Diki adet L-tipi baglanti pargasini ve alti adet M4x8 FMO havsa basl
viday! paketten gikartin.

28



(@Baglanti parcalarini anahtarin her iki tarafina sikica takin ve t¢ adet
M4x8 FMO havsa bagli vida ile sabitleyin.

Ag olusturma
Yontem 1 (Tavsiye Edilen)
Uygulamayi kargidan yuklemek icin aygit veya el kitabi uzerindeki

Kare Kodu (QR-code) okutun. Agi1 kurmak ve yapilandirmak icin
Uygulamada igerisindeki kilavuzu takip edin.

g B

—

( )

5

0
3

5

Yontem 2

Kabloyu aygit baglanti noktasina (port) takin ve yapilandirmayi
gerceklestirmek igin http://10.44.77.200 adresini ziyaret edin.

29



Baglanti Noktasi (Port) Bilgileri

Groan=1000100M

bam| ccooooo0000000 ©

ﬂfﬁmﬁ
0

Not: 1. Sistem durum LED'i 3. 10/100/1000 Base-T Ethernet portu

2. Sifirla (Reset) dugmesi 4. 1000Base-X SFP portu

Ozellikler

Ozellikler RG-NBS3100-24GT4SFP

Standart IEEE 802.3, IEEE 802.3u,
IEEE 802.3x, IEEE 802.3z
24*10/100/1000Mbps Ethernet

Arayluz Portu
4*100/1000 Mbps SFP portu

Anahtarlama Kapasitesi 56 Gbps

e Genel maksimum ¢ikis gucu

Gug Tuketimi 21W'dir

Boyutlar . N

(Genistik x Derinlik x Yiksekik) | 40mm*165mm*44mm

Calisma Sicaklik 0°C-50°C

Ortami Nem %10 ila %90 Bagil Nem,
yogusmasiz

Depolama Sicaklik -40°C-70°C

Ortami Nem %5 ila %95 Bagil Nem,
yogusmasiz

CE Uyarisi:

Bu ekipmanin bir yerlesim bolgesinde ¢alistiriimasi radyo girisimine neden
olabilir.

30



Preparar a instalagcao
Conteudo da embalagem

Conteudo da embalagem

Item Quantidade
Switch 1
Aletas de montagem em rack 2
Pés de borracha 4
Parafuso de cabeca rebaixada M4 x 8 5

mm

Software de gestao

Cabo de aterramento

Cabo de alimentacao

Clipe de retengéo do cabo de
alimentacao

Manual do usuario

Cartao de garantia

Inicie sessao no site oficial da Ruijie Networks
(https://www.ruijienetworks.com) e introduza a categoria de produto
correspondente para encontrar o produto e baixe a documentacao

relacionada.

31




Instalacao

O switch RG-NBS3100-24GT4SFP pode ser instalado num rack de 19
polegadas compativel com a norma EIA.

Os passos de instalagéo sao os seguintes:

Passo 1. Retire duas aletas de montagem em forma de L e seis parafusos de
cabeca rebaixada M4 x 8 mm.

Passo 2. Encaixe uma aleta de montagem num dos lados do switch e fixe-o
utilizando trés parafusos de cabeca rebaixada M4 x 8 mm. Repita este passo
no outro lado.

Configuracao da rede

Método 1 (recomendado)

Digitalize o cédigo QR no dispositivo ou no manual para baixar a aplicagao
Ruijie Reyee. Realize o procedimento de rede e conclua a configuragao da
rede com base nas instrugdes na aplicagéo.

32



Método 2

Conecte um cabo de rede a qualquer porta Ethernet do switch e acesse
http://10.44.77.200 para realizar a configuracao de rede.

Botoes e portas

Green=1000100M

0QUOCDO0GOOORO 2%

EIEET:
1. LED de estado do sistema 3. Porta Ethernet 10/100/1000 Base-T
2. Botao de reset 4. Porta SFP 1000 Base-X

33

(2}
<D
>
(®))
>
—-+—
—_
o
o



Especificacoes

RG-NBS3100-24GT4SFP

Protocolo e Norma

IEEE 802.3, IEEE 802.3u,
IEEE 802.3x, IEEE 802.3z

Portas

24 portas Ethernet de 10/100/1000 Mbps

4 portas SFP de 100/1000 Mbps

Capacidade de comutacao

56 Gbps

Consumo de energia

A poténcia maxima de saida geral é de
21 W.

Dimensoes (L x P x A)

440 mm x 165 mm x 44 mm (17,32 pol. x
6,50 pol. x 1,73 pol.)

Ambiente de

Temperatura 0°Cab0°C (32 °Fa122 °F)
funcionamento

Humidade 10% a 90% HR (sem condensagéo)
Ambiente de Temperatura -40 °C a +70 °C (-40 °F a +158 °F)
armazenamento

Humidade 5% a 95% HR (sem condensacéo)

Aviso de marca CE
A operacao deste equipamento num ambiente residencial pode causar
interferéncia de radio.

Aviso Anatel

Para mais informagdes sobre ANATEL, consulte o site: www.anatel.gov.br.

34




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35

